Astronomy 2 Tutorials Session 2000-01





Tutorial 7


Model Answer








1.3


From your notes  


�EMBED Equation.3  \* MERGEFORMAT���


Let


�EMBED Equation.3  \* MERGEFORMAT���


Then 


  �EMBED Equation.3  \* MERGEFORMAT���	


This yields an ellipse of  a = 1, b = VEQ sin (i)/c.  Using this we can calculate  the eccentricity:


		�EMBED Equation.3  \* MERGEFORMAT���


Centrifugal limit is given by 


�EMBED Equation.3  \* MERGEFORMAT���	     �EMBED Equation.3  \* MERGEFORMAT���


Hence result.








